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Increasing and decreasing of a temperature write the appropriate answer for each problem.

1

2)

3)

4)

5)

6)

7)

8)

9)

10)

The temperature is 4° C. Later, it rises 3° C. What is the temperature now?

The temperature is -5° C. Later, it rises 6° C. What is the temperature now?

The temperature is -1° C. Later, it drops 4° C. What is the temperature now?

The temperature is 3° C. Later, it drops 5° C. What is the temperature now?

The temperature is -4° C. Later, it rises 7° C. What is the temperature now?

The temperature is 5° C. Later, it rises 4° C. What is the temperature now?

The temperature is 1° C. Later, it drops 4° C. What is the temperature now?

The temperature is -5° C. Later, it rises 9° C. What is the temperature now?

The temperature is 8° C. Later, it drops 2° C. What is the temperature now?

The temperature is -4° C. Later, it rises 9° C. What is the temperature now?

7°C
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Increasing and decreasing of a temperature write the appropriate answer for each problem.

1) The temperature is 4° C. Later, it rises 3° C. What is the temperature now? 7°C
2)  The temperature is -5° C. Later, it rises 6° C. What is the temperature now? 1°C
3)  The temperature is -1° C. Later, it drops 4° C. What is the temperature now? -5°C
4)  The temperature is 3° C. Later, it drops 5° C. What is the temperature now? -2°C
5)  The temperature is -4° C. Later, it rises 7° C. What is the temperature now? 3°C
6)  The temperature is 5° C. Later, it rises 4° C. What is the temperature now? 9°C
7)  The temperature is 1° C. Later, it drops 4° C. What is the temperature now? -3°C
8)  The temperature is -5° C. Later, it rises 9° C. What is the temperature now? 4°C
9)  The temperature is 8° C. Later, it drops 2° C. What is the temperature now? 6°C
10)  The temperature is -4° C. Later, it rises 9° C. What is the temperature now? 5°C
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